=

201285 =0lat Lers A MBI ~ MEIE

A METR
M HIlE2 Hcl 2l
SRl dEMg )] HFE2

[
2

2 A

A

_ _ _ AT
2N -3 - c2(3H) - NEME - HES 0] AFCH loﬂ/l\_Fo” HunsZ
ME T2 27,067,411 21,087,172 5,980,239
= 2,217,900
= 1,503,479
Al 23,346,032
HII2 Xl el 26,097,554 20,186,634 5,910,920
2 2,142,900
& 1,481,200
Al 22,473,454
MEMY D] X2 16,926,752 15,063,622 1,863, 130
= 14,400
Al 16,912,352
DI2HLAEAI (MEHDIIE =T 28 16,242,945 14,096,020 2,146,925
101 @1 21| 14,525 0 14,525
04 J12tH22XNSE+ 14,525 0 14,525
OLHXNISHAX} SHEX 14,525
>ol=23 45,6003 x121%191 8,710
DG 4,092,000 * 14! 4,092
>EEa 1,723,000& x 14! 1,723
201 L2 HH| 68,820 57,120 11,700
01 AR 22/l 14,620 16,920 A2,300
O1 etx=2H| 10,700
DUHEHIIZIMI HES & Z2HEIIZ
700,000 *14) 700
> MY II=0|D](Zero-Waste) L 2& ) &
2 10,000,000& x 14! 10,000
03 g4 3,920
DEMIR fE2L L II32SA9 FAS
EaG 70,0003 801 *73| 3,920
02 3=2gH| 54,200 40,200 14,000
O1 2222 2 HA 7,200
DLHRNZAHAXNZ(XANSIA S 2223)
6,000,000 = 1CH 6,000
Dt AN (ASIHM S 22232)
1,200,000& = 1CH 1,200
O4 XA ety 47,000
DEHAB AKX RAL(SFUH, HHK
Xdl) 39,000,000 = 1CH 39,000
Dot FAxg SXNH(SFU, MUK X Hl)
8,000,000 = 1CH 8,000
207 O | 19,000 19,000 0
01 ¥R B Y| 19,000 19,000 0
020139 MEHII=2 =828 MH2lHls JAItat
83 &4 19,000,000& * 14 19,000
307 QI2t0| & 16, 140,600 14,019,900 2,120,700




S MEXHA D
a: Kol HMel 2ol

Sl MEMY D HF R (Sl #)
: _ o HEC -
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
05 QIR 3 16, 140,600 14,019,900 2,120,700
Ol2xL 89 5,463,000,00021 *14} 5,463,000
OUEHIIZ SISHel 8% 65,0008 +5,400S 351,000
ONMEBHME 2 1,093,000,0008 14! 1,093,000
OZZH MBHIIS 43 - 28
88,0002 +3,600E 122 3,801,600
OMEE Jts HIIS +E2e
2,040,000,00021 *14} 2,040,000
OUEHIIZ £ - 28 (B S
280,000, 00021 % 14! 280,000
ORSYX HIIS 8 - 20 43
40,000, 0002 * 144 40,000
OSASRHIIS 48 - ST (LW FH)
60,0002l *750E 122 1,440,000
OSASRHIIS 48 - SUHH(DSFH)
90,0002 +1,400E * 122 1,512,000
OsAE H2+)2I| NE2gY|
10,000,000 * 128 120,000
ZYH AASSE NE L 23 437,000 719,750 £282,750
201 YEr2 Y| 4,400 6,600 A2,200
02 B2 4,400 6,600 A2,200
O3 A& EHl 2XH| 4,400
PEHAASE BREANAY X245
1,100,002 *43] 4,400
206 T2t 432,600 713, 150 280,550
01 T2t 432,600 713, 150 280,550
OMY I SLHAASE HE (WA, LEHS10
’) 391 %800, 0000H 31,200
OMYI| SHRHAASE M= (HAIZ, LBIE20
’) 604 +1,600,00004 9,000
OMYI| SHHAASE M= (L8 - ZTE50
’) 12721 %600, 0000H 76,200
OMI| ZYRHAASE M= (L8 - ZZR100
‘) 2302 600,00004 138,000
OMY I SSLHAAZE HI(SAS 34 25
=) 1821400, 00004 7,200
OS+R2AZE 0Hh M=H(502 )
40021 %30,0000H 2,000
OS4+RAASE Ot RIZH(1002)
45021 %30, 0000H 13,500
OTHEE OHCH TMIZH(1002) 4502 +130,00004 58,500
HII2 REEI| Y 215,907 246,652 A30,745
201 2Er2gy| 62,327 67,287 A4,960
01 AR 22l 2,650 10,510 2,140
O1 Yer+gt| 1,150




S MEXHA D
a: Kol HMel 2ol

Chol: ME M| HEBR =CR-EY
_ _ _ poNE R
2N -3 - c2(3H) - NEME - HES 0] Ao '@,‘;5‘; Hl =2
DMY D RHED| S4EE 409 HE
50,000& 504 2,500
DMYD RHED| X F0E ME
100, 000& 504 5,000
DM PHE)| G DAY
300& x5002Z dil 150
DHIIZEAI =2 350, 000& x104 3,500
06 extz 1,500
DE=HYHEHIIZ2 &2 24D s
500, 000& *33| 1,500
02 S32gH| 49,677 56,777 AT,100
o1 22e= 2 HA 22,677
DMYIRHED HEXNSE NSNS 53
2= 717 ,000& = 1CH 717
DMYI REHED HEE2 SUHE 2
30,000 *12& 360
DMYI RHEDI| ZAIDtH MIIL2
25,000 *30H A+ 12 9,000
DM PEED| 2FAIIHHICH AIAEISI & AF
2= 1,050,000& x12& 12,600
O3 Al &H|l | 21,000
D>MY D RHED| ZAIIHH 2 S X 22
700,000& *30 1 &~ 21,000
O4 Xtgk - 88| 6,000
DAY D RHED| HEXISERIH(SEUH, A
Hl S XIHl) 6,000,000 =1CH 6,000
202 (4 Hi 10,080 10,080 0
01 2| 10,080 10,080 0
OMYIIl RHED| 423 (]
840,000& x12& 10,080
206 i =t 8,000 8,800 A 800
01 X &4l 8,000 8,800 A 800
OZesteA SAHMBAIAL oFE 2ol(LHA
SEH) 200, 000& x50H A x8& 8,000
303 LAZ 5,500 5,500 0
01 Za32 5,500 5,500 0
ONRIY AR 24 SHE T2 5,500
DX SHS 800, 000& 20 A 1,600
>R SHS 700, 000& *3IH A~ 2,100
>&d sHs 600, 000& *3H A~ 1,800
307 QI2t0| & 130,000 130,000 0
02 OI2tEAME X 130,000 130,000 0
OMAIIZE0|II(Zero-Waste) =& AL N 2
= 30,000,000& » 14! 30,000




S MEXHA D
a: Kol HMel 2ol

el MEaMg )] HF2e (el &)
SN HB SR (BIH) - A - B S 0l &b S D=2
- T - = S = &= 0:”/&,% WS
OLelME (82 AY) dXtel =X 2X23
100,000, 000& =14 100,000
AMDEANSHE 2 2,100 1,200 900
301 et a3 2,100 1,200 900
12 JIEt2 43 2,100 1,200 900
oM RHEI] ADIAZ 100,000 12 1,200
O18E3 AEYM MO ENS
30,0003 3074 A 900
CSEHUO0E HMelXa At 28,800 0 28,800
= 14,400
Al 14,400
403 AHXIEHH S X201 ™ 28,800 0 28,800
= 14,400
Al 14,400
02 S| 2SOl CHEHCHEH A I 28,800 0 28,800
OL-ZFZY0IE HMelXd At
13,200,000& * 14! 13,200
= 6,600
Al 6,600
OZdIOIEMEl(EF2HANA) At
15,600,000& *14! 15,600
= 7,800
Al 7,800
HIOI2HM2lAlE 8X & 2EAS 8,887,140 4,823,800 4,063,340
= 2,116,000
= 1,481,200
Al 5,289,940
SASHIIAIE QU2 EH(THEE )AL 2,684,720 2,533,180 151,540
201 Bt2 A | 67,800 27,700 40,100
01 AR 2teld| 41,000 900 40,100
O1 get=ZH| 41,000
>SASEH d23M =2
250,000& »42] 1,000
b SASNAS ZRHRIAE AR IS WS
=B 40,000,000& *14! 40,000
02 2324l 26,800 26,800 0
O1 2222 £ HMA 1,800
DRSNS FoAHZ2EA ZSRIB(ED],
+=5) 150,000& «12& 1,800
O3 A& &Hl S Xidl 25,000
DSAMSTASALE 22 2 FHIKAUI(H2
564m*, J| H 505 ) 20,000,000& *14! 20,000
DRSNS d22els A5 E FHlI=AH
(H2159m HALYS) 5,000, 000& 14 5,000
202 (44l 2,880 2,880 0




2
D Hol2 Rl el

cHe:

X ZH
S =

A 2T

HOISHeIAE X 2 2YAY

_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
01 2UHOIH| 2,880 2,880 0
OsagHeINE BEFY L UKL
240, 00021 *122 2,880
307 2I2H0| 2,564,040 2,472,600 91,440
05 BIZtoIEr2 2,564,040 2,472,600 91,440
OSASXAS TBHIAIL 229 224|(
S ) 70,3002 *900E * 122 759,240
OSASZlY HAWE IS H b (BBAL
g =) 60, 00021 *570E * 122 410,400
OSASXA5 AHIAIL H2ltHB A HI(
SEELY 83,0002 +1,400E+ 128 1,394,400
401 Al&HI L 2 THY| 50,000 30,000 20,000
01 Al& ] 50,000 30,000 20,000
OsAgHNE dHRH (24D 2 2F)
50,000,002 14! 50,000
MEHIIZ HBSHAL 29 2,545,220 2,280,620 264,600
201 YBr2 | 20,000 20,000 0
02 B2 Y| 20,000 20,000 0
O3 A& ZH 2| 20,000
>MEEHIIS HESAE A2 L ZHRXY
(B0E /2, 2122,496m) 20,000,008 14! 20,000
307 2I2H0| 2,525,220 2,260,620 264,600
VEIEPNEES 30,000 30,000 0
OHIISHLIX S SHSUHEAA XD
30,000,000 14! 30,000
05 BIZtSIE S 2,495,220 2,230,620 264,600
OMEEHIIS HESAE A2y DIHI(AA
LR 79,685,0002 * 122 956,220
ONMEHIIS HBSNE ISRy Fayl(A2
ol &2 S) 85,5002 *1,500E 122 1,539,000
AFA BTWEE JIPAL HFAL 1,275,000 0 1,275,000
2 750,000
= 525,000
402 212 XH2 01 & 1,275,000 0 1,275,000
2 750,000
= 525,000
02 OIZHCH 3 A1 1,275,000 0 1,275,000
OZZWEEIILAILE HEAY
1,275,000, 0002 14! 1,275,000
2 750,000
= 525,000
AT M| WAL HFAL 1,700,000 0 1,700,000
2 1,000,000
= 700,000




S MEXHA D
a: Mol Hel 2ol

&2 HIISHM2AE 28X & 2FAY (ctel: &
. _ . e ~
SA B HRA(SH) - MRAY - B 0] & 08 e HIREY
402 QI2E X201 ™ 1,700,000 0 1,700,000
= 1,000,000
= 700,000
02 QI2HCHEE AL HI 1,700,000 0 1,700,000
OMdlIl HEAIE EHEAS
1,700,000,000& * 14! 1,700,000
= 1,000,000
& 700,000
Al MEHIIZ dHAE XA 622,200 0 622,200
= 366,000
= 256,200
402 QI2t X201 ™ 622,200 0 622,200
= 366,000
& 256,200
02 SIZtCH& AL I 622,200 0 622,200
OMEHIIE dHelAlE XA
622,200,000& * 14! 622,200
= 366,000
= 256,200
AN2THEELNH 292 60,000 10,000 50,000
201 ZEt2FH| 20,000 10,000 10,000
02 2324l 20,000 10,000 10,000
O3 AIZZHl S Xl 20,000
DRUIATHEEHEH He L ZHIKKHI(30E/
o 619m) 20,000,000& *14! 20,000
401 A& HIZ 20| 40,000 0 40,000
01 Al€Hl 40,000 0 40,000
OXNMESHdEH AA &X
40,000,000& *14! 40,000
HeE S8 ALY 283,662 299,212 A 15,550
= 12,500
Al 271,162
MeaZ2IsHIIE =E&dzs N2 156,500 144,000 12,500
= 12,500
Al 144,000
301 etz azgd 156,500 144,000 12,500
= 12,500
Al 144,000
12 J|Et2 43 156,500 144,000 12,500
ONMEsE =&z (HUE, s%4bY)
12,000,000 «12& 144,000
Os=& HHlE =HEd= 12,500,000& *14! 12,500
= 12,500
MesltsHolge 228310 84X N 38,000 38,000 0




S MEXHA D
a: Kol Hel 2ol

Sl HES STAY (e @
] _ - MG =
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
402 Q12 XHZ 0| & 38,000 38,000 0
01 AR = F 38,000 38,000 0
OSZHIIS +TFEX(S - ©)
6,000,0002 *35 18,000
OBEFY Mes =22 22D £
10,000, 000! *2JH 2 20,000
WEEISHIIZ 22l4)ie 23 63,600 97,600 34,000
206 T & bl 63,600 97,600 34,000
01 T2 bl 63,600 97,600 34,000
OHEZE A2 +)He(SEE)
320,002 *307H 9,600
OHEZS 548 100,00021 *507H 5,000
OMEEE 221410 (45) 250,000 «300H 7,500
OMEEE 1SY(HSFE thes)
2,5002 10,0007 25,000
OBSFeY a2 BS2H8II(1204 /Tt
EA DHE) 39,0002 %3004 11,700
OHSFe 2A2 2FLHBII(3,52)
5,0002 *3007H 1,500
OABSAT SAS 2FH£18I1(10,201)
11,0002 *3007H 3,300
WEE =nE S 22 21,512 19,612 1,900
201 L2 Y| 8,272 8,272 0
02 ZZ2H| 8,272 8,272 0
O1 2222 % Al 772
PHEE 92 =3 U NSIHM S 232
2 72,0002 %14] 772
O4 xHgf - Hety| 7,500
PTHEE 942 23 ISSNU(RSSEH,
UK ) 7,500, 0002 1CH 7,500
202 01t 3,840 3,840 0
01 =L§ 01 bl 3,840 3,840 0
OMEBEIISHIIZ 22UHE =8 B ofy|
320,000 *122 3,840
307 212H0| & 9,400 7,500 1,900
05 DI2H9IEr 2 9,400 7,500 1,900
OHEZE 2589 (AF-34)
500,000 *183] 9,000
OHRAFMX 2B (FF~0t)
100, 00024 *43] 400
HAZS MES HH0IQCIE ATANHT AL 4,050 0 4,050
206 T 2 4,080 0 4,050
01 T2 bl 4,050 0 4,050




S MEXHA D
Ha: HOI2 Mel 2l

el B R SXAI (=ECRE
SN HB SR (BIH) - A - B S 0l &b S D=2
- * S ° - [EEMREECES &= 0:”/‘l|_% WS
OHAlER =&g Y 270,000 =154 4,050
2t 617,310 555,935 61,375
= 75,000
& 22,279
Al 520,031
OtSC2 st&a Jt3)| 448,110 329,000 119,110
== 4 2013t &E4A X2l 270,110 201,000 69,110
201 Bt2 A | 27,360 20,400 6,960
01 AR 2teld| 16,560 9,600 6,960
O1 git=ZH| 16,560
DEESEA HIEFL(2UAZE 2 220HD)
60,0003 234 2+ 122 16,560
02 32244 10,800 10,800 0
O1 2322 % WA 10,800
DISSIHANI, 2B (IEAMSEA 2
5J0 ) 150, 000 *6IH 2~ 123 10,800
307 21Ztol 222,750 165,600 57,150
05 BIZtRIE S 222,750 165,600 57,150
O3 ¥ 20Ist&Ea dEa 22t A 222,750
DS A D2t A
16,5003 300 *23H & 113,850
D2HOIBIEA A Q12 9g
3,300 300 *1109H & 108,900
401 A& HIZ 20 20,000 15,000 5,000
01 Al€Hl 20,000 15,000 5,000
OBE ¥ 20T 24(12004)
20,000,000& *14! 20,000
gelstEa 23 20,000 20,000 0
201 Bt2 A | 20,000 20,000 0
01 AR 2teld| 20,000 20,000 0
O1 get=ZH| 20,000
CERNEA NE HOBE DY (SYHES
g) 20,000,000& * 14! 20,000
SHoISSHEALX (L) 28,000 28,000 0
401 A& HIZ 2 CHYI 28,000 28,000 0
01 A& HI 28,000 28,000 0
O 20lstEa & 9,000, 000& x25 18,000
O0ls4l 2t0lstE4a W 5,000, 000& x2= 10,000
OS0ISBAlE S ZEAME 130,000 80,000 50,000
401 A& HIZ 20| 130,000 80,000 50,000
01 Al€HI 130,000 80,000 50,000




SN

A 2T

I QADY
Sl OIBCIE BIEA JpRD) (9l & 2
S BB SR (B ) - MRAY - BAS Ofl At o d 5 HR=2
- (=) T - = S = o = 0:”/&,% Wsa
OZ2FsHEA EX(B2H ZHFIH)
130,000, 000& 1 A! 130,000
eIt elAlE 22| 169, 200 226,935 AN57,735
= 75,000
= 22,279
Al 71,921
Helst=XelAld 22| 19,935 226,935 A 207,000
201 LBt AH| 16,015 16,015 0
01 AP 2t2ld] 2,148 2,148 0
O1 Yet=2H| 2,148
DONCIGHEMEIAlE £=&ATA =
8, 600%*153"*125 1,548
DNE=EZ ESIE 50,000 x12& 600
02 =294 13,867 13,867 0
O1 ZZe2 o HAl 7,867
DESFEEAESIAN CHHUS(ERT )2 S
2702 %1,8004 x12& 5,832
DOHCIGHE=MHelAlE & JISExHEAHEE X
N S 1,750 x20021 *23| 700
DICIGtEXElAlE NSRS NSNS
2222 915,000 = 1CH 915
DICIGte=XElAlE S& HHAEE RAS A
35,0008 x12& 420
O4 Xtk Heky] 6,000
DIt elAlE NEeH=EXNSAE(SF
O, "BIKXlHl) 6,000,000& = 1CH 6,000
202 044 3,920 3,920 0
01 2L ] 3,920 3,920 0
OMelatE=HelAld XEtts 160,000 x12& 1,920
OUZ A A 22 2A0HHI(EMEHEA
ARl 50,000 x403| 2,000
JHelota=HelAld &8X K& 149,265 0 149,265
= 75,000
< 22,279
Al 51,986
401 AlEHIZL 20| 149,265 0 149,265
= 75,000
[ 22,279
Al 51,986
01 Al&H| 149,265 0 149,265
OMelatEHdelAlE EX A& Al
149,265 ,000& * 14! 149,265
= 75,000
= 22,279
Al 51,986




A METR

HE: WRES(MEBND)

ool RN S (ME TR T (sl &
SM-EH . C(BH) - HRAY - B2 Ofl Ak 04 %ggf; HRs2
WRES(MEXA D) 239,000 239,000 0
LHEHeN XIS (M EXH& D) 239,000 239,000 0
HEHAXES(HEE=H XY =2XH) 239,000 239,000 0

RIIsSNEZ 239,000 239,000 0
01 JISEES 239,000 239,000 0
ONBE ZHASNA JISEL(MEH)
16,500 x70,000=*10/100 115,500
OBE ZHAST JISEL(HEH)
24,700 x50,000=*10/100 123,500
HY2HZH| (M) 113,547 105,603 7,944
el 2| 55,739 49,217 6,522
olA2 A (A& X2 D) 55,739 49,217 6,522
101 21 24H| 55,739 49,217 6,522
01 E= 55,739 49,217 6,522
OANZt 2R 8,078& 23021 x300A| 2t 55,739
Jl=2&Hl 57,808 56,386 1,422
JI23H(MatXt& ) 57,808 56,386 1,422
201 YEr2gy| 28,248 27,996 252
01 AR 2t eld| 24,048 23,796 252
O1 get=ZH| 18,252
>ENRY LSS 1,521,000 122 18,252
O5 =gl 5,796
DOt 522 7,000 x2321+33| x 12 5,796
02 2324l 4,200 4,200 0
O1 2222 2 HAl 4,200
>PHRI 1,750 %2,40021 4,200
202 (4 4l 25,360 23,440 1,920
01 =2 A bl 25,360 23,440 1,920
OJl2gf=d0tl 25,360, 0003 14 25,360
203 R EZ Y| 4,200 4,200 0
04 FEN2ILRFLAY| 4,200 4,200 0
ORN2IHRFAHI 350,000& «12& 4,200




